300, 1500 300,
70l160]70
©.)
i -
70J160/70 @me
W),
IR 3
8|
m -
q;_:; D16
g M| —&
g 1S = A
g
&
e G’” D13
2100

E73:5% 0 hvAl ey

D13

@ D16

@ D16

BE BB A X

(FZM 1)

S= 1:50 1:100
A EE
7200
100 56x125=7000 100
I hRk £ m
g @ 8 7200
S == T T T T T T TTT T B 100 56x125=7000 100
b 54
@ D13
g & @ bi6 g s -1 =
g g 2 1 T g 8 &
2 g 4 2 d
g g g E S
S
g = g g
g 8| 1 i 8
s g g D16 iz 3
g g g g g
g g
g i B
! L N:l 2
3[ E| s 3 gl
) 1 1 ) kel
g El & &
D13
100 56x126=7000 100 100, 56x125=7000 100
7200 7200
ARIENER
7200
109 56x125=7000 100 ERTERX
7200
8 M g 100, 56x125=7000 100
E , E
= .
5”_:,9 —l jENNENEN T T T T 1T TTTIT TTITT T T 5-5 D13
S =5
g & g8 s F S‘I
o g 8 g g 4 E =
g g@ D16 it g 7 8 b
3 ko] (=] [=]
& = 3 @ D16 2
g I NI i =
] B g
X X
3 &
g o =g g 5
: d 9 ?
013
100 56x125-7000 100 100 56x125=7000 100
7200 7200

ITE2 | Z3NERIAIGETS K Z|No7
Hma | FBEREMSRE (£D1)H=3000 #E R| A31:100

| |




